PAI LUJNG VA DO DAI LUJNG
313. Viét s6 thich hop vao chd chdm :

314.

a)3ta= _.yén
40 yén = .. ta
5tan= ... ta
120 ta= ... tén

b) 3 gid = .. phat
360 gidy = .. phuat
10 th€ ki= ... ndm

c) 800cm’ = __ dm?
1200dm® = . m?

2 000 000m® = ... km

2 yén 8kg= ... kg

bta 35kg= ... kg
8000kg = ... tén

4 tén 45kg = ... kg

3 gid 45 phat= __ phat

1 .
— qid = . phit
4 g p

6000 nAm = __ th& ki

7m’ 68dm° = ___ dm?
80 000cm’ = . m°
akm? 400m° = . m?

Viét ddu thich hdp (=, <. =) vao chd cham

a) 3tdn ... 25ta;

b) %giﬁ ... 45 phiit

c) 50m® 40dm? .. 5004dm? |

1{ZIIIZh::m2 —rj—w m

5 tidn 45kg ... 5045kg
% phat ... 30 gidy

2
100



